


1. Which of the following statements. if true, cannot be used to conclude that f (0) exists?
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0 ll_r)%f exists. W
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f is continuous at z = 0. TV\ue V-ke,\ 95 O

@ f is differentiable at z = 0. TT\J-{ "‘hc\ o S

@ The graph of f has a Y-intercept. "-f %'m
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The figure above shows the graph of a function f. 'ﬁ a vertical tangent at = 4 and a horizontal

tangent at = 5. Which of the following statements

P - ; A a
@ f is not differentiable at z = 2 because the graph of f has a jump discontinuity at £ = 2. T

e

f is not differentiable at 2 = 4 because the graph of f has a vertical tangent at £ = 4.
@ f is not differentiable at 2 = 5 because the graph of f has a horizontal tangent at & = 5.

@ [ is not differentiable at = 7 because the graph of f has a removable discontinuity at = 7. i f"‘-e



z2—-20 forz<5 h@ ‘-QD
> f(:c)={—a:2+20 forx >5 —)‘S*D‘D € -3

Let f be the function defined above. Which of the following statements is true?

f is not differentiable at = 5 because f is not continuous at z = 5.

f is not differentiable at z = 5 because the graph of f has a sharp comer at z = 5.
@ f is not differentiable at & = 5 because the graph of f has a vertical tangent at & = 5.

@ f is not differentiable at z = 5 because f is not defined at & = 5.
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